EARAROBEEIERT — 2 N— IBISH —F

201758H130 (B) 2EB/M\E6H

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

IRl s%1%57 5005F ¥5%3%E (B
[AE%£] 1 % 10,500,000 @ 2 7 :4,200,000 @ ~ 37%&

&) (B8 E8

2,600,000 B

4 7% 11,600,000 53 1,050,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N S # 5 | EPR 1:48.1 6-6-7-5 |34.0| 96.5 | 5 494 | BERME— (3ER)
11813 1> bNO-X 57.0 (=) (+g) | BREIRK
R:Fq—TA>N7 s B:d—2oL—Y— EHRKS
. > 3 | MBS 1:48. 7-7-4-2 | 34.2| 96.3 | 1 510 | ARMT (EX)
2 4| NUFZT 54.0° (7E) (o) | @) KTL=—>>%
Rig—MLEYIL BixTORFZ-—X LA I 45T7—L
N ;= o4 | BRHF 1:48.3 2-2-1-1 |34.7| 92.4 | 6 474 | KIGEH (BH)
3 8 ® I I\/77Z % 57.0_7_ (1 1/4) o) [ F A s
R:TTRTLE— BiTRN— b F— NI
. # 3 | K& 1:48.4 8-8-7-3 |34.3| 93.1 | 3 452 | AIRE (BR)
47|10/ A¥—FIT—ILR 54.0 (172) () | Rl
RHATAT v — BAA—Ly hEAY Lid=kie
j 4t 4 | BILELAF 1:48.6 12-12-13-10 33.7 | 91.3 | 2 486 | FHEE (EH)
5 3 Jr—Jkb—0O-— 7.0 (1 1/4) +2) TEE—
R4 7 bT—IVEY B:T—LA FREANS
035 [ 8= 1 # 3 | AZER 1:48.8 11-11-9-3 | 34.6 | 88.7 | 7 | 442 |IROERI (%)
61812 ¥TIVKRTF vy b 5.0 X7 g
L:hE—Xa—F— BT 7T—4AK =R %5
it 3 | deRtE— 1:48.8 9-8-10-8 |34.4| 88.8 | 4 418 | ATkt (R=®)
4 ¢ EIRLLSA * 54.0 (7€) © W) TU—Tr—i
R:2RUIYZXIZX B:T7H4FI=a> J=HrTrp—L
. =Rk : -12-11- AHE (FEX)
8 5| 4B/ AV v o4 maw 1(;1?:) 12-12-11-10{ 34.2 | 87.8 | 8 (4_260) it
Rixiv /e x BiaH/ S rv NS
. - = e :50. —4-6- . . BRERFIZ (EXR)
9l5/6| NUXTFT b 3 o 1(570)1 4-4-6-9 | 36.1| 68.3 | 10 gs) man
L:vA7x B:7M4XYT R 2HI Ty —L
> )L — # o3 | JIERE 1:50.2 4-5-4-7 |36.3| 66.7 | 12 | 434 |EEEIEH (=)
10/5|7| TR/ VT4 4. (56 (C1a) | B0 H5TLyKI5T 5747
R:2FA4d—I K B:aXEANL EvJlLy RIT7—L
; : . s 4 | DIEEREEX 1:50.3 3-3-3-5 |36.5| 66.0 | 13 | 504 |AEK (RR)
1) gf1n ] IR U— 8.0 2 o) | %k
R:d—ILKk7Uz1—I)b B:LA>R—<)—> BF EF
. . FLE—EB : -8-12- BEEER (FR)
1l 7e=EUT # 5 il 1.(571).4 9-8-12-13 | 36.6 | 55.9 | 9 ;1_7‘3 Pl
Rid—WRKFPY2— B:TS5VTS5—h HET7—L
IS CNTIN i 4 | BBE 1:59.3 1-1-2-12 [ 45.6 | 20.5 | 11 520 | %EENR (RR)
13802 | 77 Ny Fr— 55.0 (44 4) (32) BIEFIE
LA TATv— BNTILT ppal=l% et
@ 71 L
) 46.6-34.5
NO>24 L | 12.8-11.7-12.6-12.4-12.0-12.1-11.7-11.3-11.5
@ 1—F—@&BIEf
13=7r= 2,8,11(6,7)13,4,10(1,9)12(3,5)
2ol=7r= (x2,8)11,6,7,13,4(1,9,10)12(3,5)
S=57= (2,%8)11(7,4)6(13,10)12,9,5,1,3
40—4— (¥8,4) (10,12) (11,13)7,9,6(3,5) 2-1
[ RN
B OB 13 990H 714K 4-13 480M e & 4-8 550 &R 4-8-13 2,920
8 B 13 220M 8-13 1,060M B & 4-13 1,080 3B 13-4-8 22,490
4 120 4-8 460 B H 13-4 3,190M
8 240M

ABICOVWTRDTEEERROODE. TR LIV,




